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Logarithmic Functions
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Transformations of Functions
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Translation

Upwards/downwards:
e.g.
¥
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Along the y-axis:
e.g.

enlarged to 2 times the
original

reduced to % of the original

To the left/right: With respect to the

Reflection

With respect to the y-axis:

eg. X-axis: eg.

y=flx) eg.
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Enlargement & Reduction

Along the x-axis:

e.g
y=sinx
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y=sin 2x

reduced to l, of the original
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Equation of Circles
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Greometric objects

1. Three points
A Band C
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2. Two straight lines
Ly and Iz

3. Straight line L and
line segment AR

4. Straight line L
and £ABC

Situation

(@) Slope of AR = slope of BC

(b) Coordinates of B =
coordinates of the mid-point
of the line segment AC

(a) Slope of L; = slope of L;

(b) Slope of L; x slope of L;

P is equidistant from A and B,
where P is any point on [

Perpendicular distance from P to AB
= perpendicular distance from P w BC,
where P is any point on [

Geometric relationship

A, Band C are collinear

A
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£ is the mid-point of the line segment AC
4. B
s

Ly is parallel to Ly, ie Ly J/ Ly
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L~

L, is perpendicular to L, ie. [y L L
L

L is the perpendicular bisector of the line
segment AR

}—‘ locus of P
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L is the angle bisector of £ ABC

[ locusof P
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Applications of Trigonometry in
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3-dimensional Problems
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